AKX X0 X EK AKX
ZEce(stah SHi g ity SEel BHE n n AETH n
Hasa | SMdEs | WSS | Sl ~g] Hasa | SdEs
ol At a| 1} MiS= 2 0.5 4.1 375.68 4.1 375.68 4.1 375.68
S| 21} MASS 2 0.5 4.1 375.2 4.1 375.2 4.1 375.2
EALM T} MASS 2 0.5 5.7 362.4 5.7 362.4 5.7 362.4
X|7| 23} MRS 2
X| 9| A4 1} MiS= 2 0.5 6.9 353.52 6.9 353.52 6.9 353.52
Pig- i) Mirs= 1
o| R O} MASE 1 1 5.4 364.8 5.4 364.8 5.4 364.8
AL2| 5 X 2t Mirs= 1
ALZ| 5 X|2H(OF) MArs= 1
=X 3mE=dn ) MXSE 2 0.5 41 372.6 41 372.6 41 372.6
olEH S} MAS S 2
S Mirs= 1
oA =a|at MiS= 1 1 6.7 354.56 6.7 354.56 6.7 354.56
MEort MiS= 1 1 3 381.24 3 381.24 3 381.24
S M| 21t Mis= 1
0| | £ &l 2bm) Mis= 1
FHa|c|xpelat Mis= 1
Fix-x-in]) MiSS 3 3 3.8 377.84 6.4 357.2 3 4.9 368.992
O ARt Mis= 1
HE LA Mirs= 2




